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Q.4
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What is the correct sequence of the foliowing
evenis of construction of a shalt in rock?

1. Drilling and blasling

2. Timbering

3. Pumping

4. Mucking

Select the correct answer using the codes given
below:

(8 1,2.3.4
{cy 2.1.4,3

I 'N'is tha number of shalls used, then Lhe {otal
number of laces available for attacking the
excavation and consbiuclionin funngls are

{a) 2N (b) N+2

{c} 2N+ 1 (&) 2N+2

{b) 1,4.2,3
{d) 2.4.1.,3

American method of tunneling

(i) is suilable for large sized wnnels

(i) is not suitable for rallway or highway wnnels
{iii) requires heavy imbers

Of \he above slalements

(a) only(i)iscorrect

{b) (i)and (iii} are correct

{c) (i) and (i} are correct

{d) (i}and (i) are correct

11D is he diameler o} tunnelinmelres, ihen the
thickness of lining in mm, as per the empirical
lormula is given by
(@) -‘3?0

(c) 1040

{b) 82D
{d) 124D

The needle beam method of lunnelling

() is suitable for soils in which rool can stand
for few minutes withoul support

{ii) is suitable for brick lining

(i} is suitable for concreie lining

{iv) requires large number of irench jacks
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Tunnelling

Q! the above stalements

@) only{i}is correct

(b} {i}.{iiyand {iv}) are correct
{©) i}, {iii} and liv) are correct
{d} {i)and{iijare correct

In Belgium method of lunnelling

{a) construction of side walls is completed
balore invert and rool arch ara built.

(b} construction of root archis completed belore
side walls and invert are buill.

{c) construction of invert is completed before
side walls and roof arch are built,

{0} conslruction of invert and side walls'is
complated before (ool arch is built,

What is 1he correcl sequence of the following
avents inrack tunnelling?

Marking tunnel profile

Loading explosives and blasling

Checking misfire

Mucking

Removing loul gas

Selling up and drilling

. Guniling

Selectthe correct answer using the codes given
below.

(8 1.6.5,3.4,2.7

) 1.2.6.3,54,7

(©) 1.6,2.5,4,3,7

{d) 1.6,2,5,3.4,7

~NomogoA WN -

Match List-1 {shape of tunnel) with List-li
{Atiribute for preference) and select the corzect
answer using the codes given below the lisis.
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. Ustd

A: Horse shoe seciion

B. Circularsection

©. Eggshaped

D. Segmenlaltoof
List-lt

1. Gives seif cleaning volocily evan in dry
weather

2. Suilable for soft rocks

3. Bést suiled for non-cohesive soils

4. Suitable for solt materiat seclion

5. Suilable for subways
Codes:

A B CD
f@y2 3 4 5
5 4 1 3
€} 3 2 4 1
2 3 t 5

Match List-l with List-lf and seleet the correct
answer using the codes given below the lists.
List-{ '
Loggings
. Collarbraces
. Wall plates
. Segments
List-ll
1. Tocanyrootlcad underarchaclion
2. Tosupporn archrib at springing level
3. Topreventthe segments lwisting out of fine
4. o retain the fill

OOODR

Codes:

A B COD
@2 3 4 1
B4 3 1 2
fcy3 4 2 1
@3 4 1 2

Q.10 Maich List-l with List-l and select the correct

answer using tha codes given below the lists.
Listt List-it

A. Ground mould 1. Invertlining

B. Leadingframe 2. Rool archiining

C. Trusses 3. Sidewalltining

Cades:
A
(ay 1
(o) 1
{cy 2
(9 2,

PSR R -
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©.11 Malch List-} with Lisl-1 and select he carrecl

answer using tha codes given below the lisls.

List4

Olf-spurtunnels

Sad:dle or base wnnals

Sippa tunnels

Spiral tunnels

List-ii

Tunnelsconstrucled in the valleys along the

nalural stope till lhe slope does nol exceed

the nyling gradient

2. Tunnels conslructed in steep hills

3. Shoitiength tunnels consiructed to negotiale
minor local obstacles

4, Tunnels provided in narrow valleys to
increase the tunnel length o avoid sleep

=Y

-t

siope
Codes:

A B C D
a3 1t 2 4
byt 3 2 4
©3 1t 4 2
(gt 3 4 2

Q.12 Match List-l (Shape of wnnel) with List-1l

(Suitability for) and select the correct answer

using the codes given below (he lists,
Listl

. Circutar seclion

. Horsz shoe seclion

. Egg shaped

. Segmanal tool section

List-1f

Soft rock

Hatd rack

Carryingwater

Sawer

Subways

oOom>

LAl A

Codes:

A B C D
@3 4 2 1
2 1 4 5
2 1 4 3
{1 2 3 5

Q.13 Match List- (Tunne! consiruction Melhod} wilh

Lisl-l1 {Advanlages) and select the corecl answer
using the codes given below Lha list
List-l
A, Fulllace method
B. Heading and water bearing soil

1. {b) 2.(d) 3.(a) 4 (b 5, (b
11. {a)

12. {c) 13. (c)

Explanations RITLTIIT

2

{d)

Each shalt gives two addilion faces of allack.
So after including two ends, {he total number ol
allacking faces comeas to 2/ + 2.

4,

Co
(@)
(b)

{c)
(g

6. (b)

. Driltmethod
. Compressed air

Lisi-t

Helps in ventilation ot tunnel

Uselul in soft and Bench Method
Simultanaous drilling and mucking is
possible

Tunnelling is continuous

des:

A B C D
3 4 2 1
4 3 2 1
a4 3 1 2
3 4 2 1
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